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Swi t ch#show int gil/0/1

!I-- Some output omitted.

G gabitEthernet0/1 is up, line protocol is up (connected)
MIU 1500 bytes, BW 100000 Kbit, DLY 100 usec,

Ful | - dupl ex, 1000Mb/s, nedia type is 10/100/ 1000BaseTX

input flowcontrol is off, output flowcontrol is unsupported
I nput queue: 0/75/0/0 (sizel/max/drops/flushes); Total output drops: 1089

Queueing strategy: fifo

Qut put queue: 0/40 (sizel/ max)

5 minute input rate 4000 bits/sec, 6 packets/sec

5 minute output rate 3009880 bits/sec, 963 packets/sec

. 22|R|0 M Qos7t & d3tE|o] U=X| #HlELICH o] 40| &d3tE[X| @

= QoSet &#0| gl =2 of7|of AZE! FIt BHAl= Br&d0| gi&LCh.
Swi t ch#show mls gos

QS is enabl ed

QS ip packet dscp rewite is enabled

. QIE{H[O|A 0| A AR El Eh Al EBfEIO| EAIE AlHEFLICEH

Swi t ch#show mls gos int gil/0/1 statistics

G gabitEthernet1/0/1 (Al statistics are in packets)

0-4: 00000
5-9: 00000
10- 14: 00000
15 - 19 0000O
20- 24: 000O0O0
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25 - 29: 00000
30- 34: 00000
35-39: 00000
40 - 44 : 000O0O
45 - 49 : 0 198910 0 0 O
50 - 54: 00000
55 - 59: 00000
60 - 64: 0000
dscp: outgoi ng
0-4: 00000
5-9: 00000
10- 14: 000O0O
15- 19: 00000
20- 24: 0000O00O
25 - 29: 00000
30- 34: 00000
35-39: 00000
40 - 44 : 000O0O
45 - 49 : 0 248484 0 0 0
50 - 54: 00000
55 - 59: 00000
60 - 64: 0000
cos: incon ng
0-4: 20000
5-7:000
cos: out goi ng

0o

0- 4.
5-7

00O
00O

out put queues enqueued:
queue: threshol dl threshol d2 threshol d3

queue 0: 248484 0 O
queue 1: 00O
queue 2: 00O
queue 3: 00O

out put queues dropped
queue: thresholdl t hr eshol d2 t hreshol d3

queue 0 1089 0 0
queue 1: 00O
queue 2: 00O
queue 3: 00O

Policer: Inprofile: O QutofProfile: O

#1:0| ool ME TS A XISHE 7/ O/threshold12| A X El g Hoi FLICHEAMO| CHE of
NMolME 7 HE 0i7[7[8 1 - 42 XI'F”LICHI 2 Of f2 queue 10| ElLICH

. 01 queue-threshold 4 0| At A=l OtZ ol O E E|=X| & Qlet 2™ AL{X|0lAM output-q R o]
CHEt o2 g =elghLct.of AlLt2|2 0| M= queuet/threshold10| dscp 460l OHE E|H, O gt
2 QIE{H| 0| A0 M AMIEILICH &, dscp 46 EEZ0| queue10l| S E|D sl Fo| HIH E=

CPU 7|7t 85F35t04 Af x| ELICEH
Swi t ch#show mls gos maps dscp-output-g



Dscp- out put g-t hreshol d map:

dl :d2 0123456 7 8 9

0 : 02-01 02-01 02-01 02-01 02-01 02-01 02-01 02-01 02-01 02-01

1 : 02-01 02-01 02-01 02-01 02-01 02-01 03-01 03-01 03-01 03-01

2 : 03-01 03-01 03-01 03-01 03-01 03-01 03-01 03-01 03-01 03-01

3 : 03-01 03-01 04-01 04-01 04-01 04-01 04-01 04-01 04-01 04-01

4 01-01 01-01 01-01 01-01 01-01 01-01 o01-01 01-01 04-01 04-01
5 : 04-01 04-01 04-01 04-01 04-01 04-01 04-01 04-01 04-01 04-01

6 : 04-01 04-01 04-01 04-01
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SILIE ZEO| ME8F + J&LIC7EMoZ B E QIEHO|AE queue-set 28 AHESHES
BHAMo 2 FEE|X| ot 2 B2 £ c7|Qoi CHEH queue-set 12 ALEEFLICH. Of AlLt2| 201
Me queue-set 12| queue 10| & HIH S7+2| 25%E 7t X|H A2t 12 100%E HEELICH

Swi t ch#show mls gos queue-set
Queueset: 1
Queue : 1 2 3 4
buffers : 25 25 25 25
threshol d1: 100 200 100 100
threshol d2: 100 200 100 100
reserved : 50 50 50 50
maxi mum : 400 400 400 400
Queueset: 2
Queue : 1 2 3 4
buffers : 25 25 25 25
threshol d1: 100 200 100 100
threshol d2: 100 200 100 100
reserved : 50 50 50 50

400 400 400 400
E

g2 gr= QEmolAo CHEt HIH 3 YA 7L 2L B 48524 queue-set 2& ‘.='_=|75';P_T'_ x|
g = QE{H0|A Tt queue-set 28 M E St ST FHEfLICH # I :queue-set 1= HEE
AUA&LICHae{Lt ZE QEHo|AE 7|EXMOE queue-set 12 AFE3EZ G AIE 0| 2
QIE{mo|A0f BFFELICE O] ofofA= 7/ 10| & HIEHS| 70%E 48t == queue-set 27t
BHZEEL

Swi tch(confi g) #mls gos queue set output 2 buffers 70 10 10 10

0| ofloi M= queue-set 2 & queue 1 KAH|ZLO| BEELICEH LAAHIZL 10t (IAHIZ 2= B F
31000 HE 22 EHRFt B2 oSE E0M HHE 7IXE = U&LICH

Swi t ch(confi g)#mls gos queue-set output 2 threshold 1 3100 3100 100 3200

B AL O| SHIE O7|Y 2 CHZ[QE MIE of2lof gt xl=X| & lghLCt.

Swi t ch#show mls gos queue-set

Queueset: 1
Queue : 1 2 3 4

g
2
3

rin 4> o2 2

buffers : 25 25 25 25
t hreshol d1: 100 200 100 100
t hreshol d2: 100 200 100 100
reserved : 50 50 50 50



maxi mum : 400 400 400 400
Queueset: 2
Queue : 1 2 3 4

buffers : 70 10 10 10
t hreshol d1: 3100 100 100 100
t hreshol d2: 3100 100 100 100
reserved : 100 50 50 50
maxi mum : 3200 400 400 400
8. =S vh= QIE{H 0|A0|M queue-set 28 AFE 5104 47 ALE 0| O QIE{H[O|A M M E|T
£ ot

Swi t ch(confi g)#int gil/0/1

Swi tch(confi g-if) #queue-set 2

Swi t ch(config-if)#end

QIE{H 0| A7} queue-set 201 DHE E|AR = K| &HOlgL|CH.
Swi t ch#show run int gil/0/1

interface G gabitEthernet1/0/1

swi tchport node access

m s qos trust dscp

gueue-set 2

end
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Swi tch(config-if)#srr-queue bandwidth share 1 75 25 5
Switch(config-if)#srr-queue bandwidth shape 2 0 0 0

QIE{HO|A T S H & AFA|SHEX| & Qg LICH
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Swi tch(config)#int gil/0/1

Swi tch(config-if)#priority-queue out

Swi tch(config-if)#end

QUE{m| O] A0A AKX El THZ!C| EAIE OHE SO CHY |G (M =R CHI Y22 oIS E =+
Rl&LICk 0] tel Of EAI} 2l E24T0| 84 CHE ofl Y220t MK HASTS B
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Swi tch(confi g)#mls gos srr-queue output dscp-map queue 1 threshold 1
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